Skillswise

Quiz

Pronouns

Level A

Circle the right answer for each question.

1) Which of these sentences is correct?
A) i will start my new job next week.

B) I will start my new job next week.

2) Which of these sentences is correct?
A) | will be late home tonight.

B) i will be late home tonight.
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3) Which of these sentences is correct?
A) i'm having a great holiday in ibiza.
B) I'm having a great holiday in Ibiza.

C)i'm having a great holiday in Ibiza.

4) Which of these sentences is correct?
A) Do you know if i can get a train there?

B) Do you know if | can get a train there?

5) Which of these sentences is correct?
A) | have a wife and two children.

B) i have a wife and two children.

6) Which of these sentences is correct?
A) i have had Training for that Job.
B) i have had training for that job.

C) | have had training for that job.
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Quiz

Pronouns

Level B

Circle the right answer for each question.

1) Which of these sentences contains the right pronoun?
A) Cathy made the dinner. She cooked pizza.
B) Cathy made the dinner. He cooked pizza.

C) Cathy made the dinner. They cooked pizza.

2) Which of these sentences contains the right pronoun?
A) My son started school last week. She likes his teacher.
B) My son started school last week. He likes his teacher.

C) My son started school last week. They like his teacher.
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3) Which of these sentences contains the right pronoun?

A) Charles Dickens was a famous writer. We wrote many
books.

B) Charles Dickens was a famous writer. He wrote many books.

C) Charles Dickens was a famous writer. She wrote many
books.

4) Which of these sentences contains the right pronoun?

A) Jessica Ennis won a gold medal in the 2012 Olympics. He

must have trained hard.

B) Jessica Ennis won a gold medal in the 2012 Olympics. We

must have trained hard.

C) Jessica Ennis won a gold medal in the 2012 Olympics. She

must have trained hard.

5) Which of these sentences contains the right pronoun?
A) How tall are you? | am 5 foot 3 inches.
B) How tall are you? They are five foot 3 inches.

C) How tall are you? We are five foot 3 inches.
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6) Which of these sentences contains the right pronoun?
A) Ben is my youngest son. He likes cooking.
B) Ben is my youngest son. She likes cooking.

C) Ben is my youngest son. They like cooking.
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Quiz

Pronouns

Level C

Circle the right answer for each question.

1) Which pronoun can you use to fill the gap?

4 )

Your mother and | will be coming to the

parents’ evening tonight. want to talk
to your teachers.
- /
A) You
B) We
C)He
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2) Which pronoun can you use to fill the gap?

4 )
The children have a school trip coming up.

need to take in some money.

A) They
B) You

C) She

3) Which pronoun can you use to fill the gap?

4 )
Elvis is my all time favourite singer.

was the king.

. /
A) We
B) She
C)He
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4) Which pronoun can you use to fill the gap?

| am looking for a new job

but ...... must pay well.

5) Which pronoun can you use to fill the gap?

4 )
The cat just had kittens.

is sleeping in the box with them.

. J/
A) She
B) They
C)He
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6) Which pronoun can you use to fill the gap?

Can please tell me the way
to the bank?
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Quiz - answers

Pronouns

Level A

1) Which of these sentences is correct?

The correct answer is B. 'l' should have a capital letter.

2) Which of these sentences is correct?

The correct answer is A. 'l' should have a capital letter.

3) Which of these sentences is correct?

The correct answer is B. 'lI' should have a capital letter and so should

'Ibiza’.

4) Which of these sentences is correct?

The correct answer is B. 'l' should have a capital letter.
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5) Which of these sentences is correct?

The correct answer is A. 'l' should have a capital letter.

6) Which of these sentences is correct?

The correct answer is C. 'l' should have a capital letter but not the

other words in the sentence.
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Quiz - answers

Pronouns

Level B

1) Which of these sentences contains the right pronoun?

The correct answer is A. 'She' is the right pronoun, because Cathy is

a woman.

2) Which of these sentences contains the right pronoun?

The correct answer is B. 'He' is the right pronoun, because my son is

a boy.

3) Which of these sentences contains the right pronoun?

The correct answer is B. 'He' is the right pronoun, because Charles

Dickens was a man.
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4) Which of these sentences contains the right pronoun?

The correct answer is C. 'She' is the right pronoun, because Jessica

Ennis is a woman.

5) Which of these sentences contains the right pronoun?

The correct answer is A. The right answer is 'l am 5 foot 3 inches'.

6) Which of these sentences contains the right pronoun?

The correct answer is A. 'He' is the right pronoun, because Ben is a

boy.
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Quiz - answers

Pronouns

Level C

1) Which pronoun can you use to fill the gap?
Your mother and | will be coming to the parents' evening tonight.

want to talk to your teachers.

The correct answer is B. 'We' is the pronoun that can be used here.

2) Which pronoun can you use to fill the gap?
The children have a school trip coming up. need to take in

some money.

The correct answer is A. 'They' is the pronoun that can be used here.

3) Which pronoun can you use to fill the gap?

Elvis is my all time favourite singer. was the king.

The correct answer is C. 'He' is the pronoun that can be used here.
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4) Which pronoun can you use to fill the gap?

| am looking for a new job but must pay well.

The correct answer is B. The pronoun that will fill the gap is "it".

5) Which pronoun can you use to fill the gap?

The cat just had kittens. is sleeping in the box with them.

The correct answer is A. 'She' is the right pronoun to use.

6) Which pronoun can you use to fill the gap?

Can please tell me the way to the bank?

The correct answer is C. This is a question so the right pronoun to

use is 'you'.
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